DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 4)

DIVISION WITH 10 Name:
Time: Score: A

n o —2081 =10 = 1) —363 + 10 =
) —874.3 =10 = 11 —=111.4 =10 =
3 —5495 =~ 10 = 15) —930.9 = 10 =
1 —95100 = 10 = 19) —139.8 - 10 =
5 —92890 = 10 = 200680 + 10 =
6 81.1 =10 = 21 —74430 + 10 =
N —837.6 + 10 = 2 15+10=
9 38+ 10 = 2 —199.3 + 10 =
9 —0996.4 = 10 = 24)  —74340 - 10 =
0 9272 =10 = 25 —18690 + 10 =
1 —=27380 + 10 = 26 =89 + 10 =
12) —5502 = 10 = 27 6330 + 10 =
13) —648 = 10 = 28 —H6od + 10 =
1 —785.4 +10 = 2 =933 + 10 =
15 —80420 = 10 = 30 —159.9 =10 =

Mathematics: Division - Level 6 - Horizontal - Set 4
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